Jalaseh 3

> f:=x—>2.8- x—xz;
f:=x—>2.8x—x2

> al[l]=15;
a, =15
B for k from 1 to 40 do
alk+1]:=f(alk]) :
| od:
> plot([seq([k, alk]], k=1..40) ], style=point);
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;> with(plots, display) :
> pl :=plot({x,f(x)},x=0.2.5, thickness=3) :
> display({pl});
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> plot([[1,1], 2,31, [3,4], [1, 11]);
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(> p2=x— plot([[x,x], [x, f(x) ], [f(x), f(x)1]) :

> p2(1);

2.5



1.77

1.67

1.5

1.47

1.1

LOr—————7—
1.0 1.1 1.2 1.3

"> display({pl, seq(p2(alk]), k=1..10) });
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> gi=x —>piecewise(x <=0,x+ l,x2 +1 );
g :=x—>piecewise(x§0, x+1, P41 ) A3)

_> plot(g(x),x=—1..1, style= line, scaling = constrained, color = blue);




> q:=x2—2-x+1;
| q:=x2—2x+1
(> 5= unapply(q, x);
hi=x—x —2x+1

> h(2);
i 1
[ > apply(h,2); 1
=> p = piecewise(x < 0,-x,x > 0, x);
] x <0
P X 0<x

> ki=x —>piecewise(x <=—m,sin(x),x <=1, 2+ 1,1 <x, sqgrt(x) );
k :=x—>piecewise(x£ -7, sin(x), x<1, ¥+ 1,1 <ux, \/;)
> plot(k, style=point);
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> H=x —>piecewise(x <=—m 2, x<=1,1,1 <x, 3)2

H:Zxﬁpiecewise(xﬁ-n, —2,x<1,1,1 <x,3)
> plot(H, style=point),
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